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Paper (DSC I) Advanced Financial Management
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Instructions to Candidates:

1. Answer all the section according to internal choice.

2. Simple calculators are allowed

3. Section D case study is compulsory.

SECTION-A
1. Answer any FIVE of the following. (5x2=10)
a) What is Cost of Capital?
b)  What is Capital Structure?
c) . What is Redeemable debt?
d) Mention theories of Capital structure.
&)  What do you mean by Dividend?
f)  Give the meaning of Merger.
g) Define Ethics.
SECTION-B
Answer any THREE of the following. (3x5=15)
2. Explain the advantages of business ethics.
3. P Co. Lid. issued 40,000 10% preference shares of Rs. 100 each. The cost of issue 2%. Find
out cost of preference shares capital if
a) Issued at premium 10%
b) Issued at discount 5%
c) Issued at par
4. A company has annual net operating income of Rs. 3,60,000. The company has
Hs. 14,00,000 12% debentures. The overall cost of the capital of the company is 14%. What
would be the value of the company?
5. Narayan Ltd. uses the certainty equivalent approach in the evolution of risk investments. The

capital budgeting department has processed the following intimation regarding to new project.
Cost of initial investment Rs. 1,50,000 cash flows after tax but before depreciation.

Year | Cashinflows |  Certainty equivalent coefficient j
1 1,20,000 0.8 |
2 1,05,000 0.7 ‘
3 97,500 | 0.6 i
4 90,000 | 0.4 |
5 60,000 0.3 i
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Answer any TWO of the following.
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The company's riskless rate of interest on Government securities in the market is 6% and risk
- free rate of interest is 6% should the project is accepted?
Discount factor is as follows:

Year T T . T
P.V. factor at 6% 0943 | 0890 | 0840 | 0792 ‘ 0.747 |

Explain the MM approach on dividend policy.

SECTION-C
(2x10=20)

7. Calculate the cost of debt for each of the following situation.
(i)  Bond sold at premium of 10%, flotation cost is 5% of issue price.
(il  Bond sold at 5% discount and flotation cost is 5%
Assume coupon rate is 15%, value of debenture is Rs. 100, maturity period is 10 years, tax
rate 35%.

8. The firms 'P' and 'Q' are identical in all respects including risk factor except for debt equity mix
firm 'P’ has issued 10°% debenture of Rs. 12,50,000. While 'Q' has issued only equity. Both the
firms earn 30% before interest and taxes on their total assets of Rs. 12,50,000.

Assuming a tax rate of 50% and capitalization rate of 20% for all equity company.
You are required to compute the value of the two firms assuming.

a) Met income approach.

b) Net operating income approach.

9. Explain the advantages and disadvantages of mergers and acquisitions.

10. Two mutually exclusive investment proposal is being consider, the investment Rs. 70,000 in
each project. The following information.

| Year ~ ProjectP = [_ ___ ProeaQ.
Cash in flows Probability Cash in flows Probability
e 40,000 01 i R
2 75000 | 0.6 | 50,000 0.2
3 ~ e0000 | o1 | 75000 | 04
4 80,000 041 [ eooo0 [ 01
5 | 50000 g1 60,000 0.1
SECTION-D
Case Study - Compulsory Question. (1x15=15)

11.

Company belongs to risk class for that the appropriate capitalisation is 10%. It has 25,000
shares outstanding and selling at Rs. 100 each. The firm's expected earnings available to
shareholders are Rs. 60,000 and it has an investment proposal costing Rs. 80,000. The firm is
contemplating the declaration of Rs. 14 dividend at the end of current financial year. Assuming

M-M assumptions you are required to compute value of firm when
a)  When dividends are declared.

b) When dividend are not declared.

* * ®
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1 1,20,000 0.8
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4 90,000 0.4
5 60,000 0.3
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